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QUESTION 1

As an implementation consultant, you are required to define a legal entity. Which three options are correct about a legal
entity? 

A. A legal entity may act as a virtual organization. 

B. A legal entity must comply with regulations and local jurisdictions. 

C. A legal entity can be identified as a legal employer in Human Capital Management. 

D. A legal entity can own assets, record sales, pay taxes, and perform transactions. 

E. Legal entities are not responsible for payment of social insurance. 

Correct Answer: BCD 

 

QUESTION 2

Identify three correct statements about Workforce Life Cycle. 

A. HR specialists can create and manage work relationships, employment terms, and assignments for the workers to
whim they have security access. 

B. The Add Person tasks include creating a new person\\'s first work relationship with the enterprise. 

C. Line Managers can transfer their direct and indirect reports only. 

D. HR specialists and line managers can create and manage work relationships, employment terms, and assignments
for all the workers. 

E. Line managers can create and manage work relationships, employment terms, and assignments for all workers. 

Correct Answer: ABC 

 

QUESTION 3

For the Change Manager transaction, the first-level approval is set to the Application Role type. The name of the
application role is HR Specialist Sales. In the Change Manager approval rule configuration, the Enable Auto Claim
option is deselected. 

Which two actions take place when the transaction for manager change is initiated for employees? 

A. The transaction goes into error because it was no auto-claimed. 

B. The transaction has to be approved by all HR Specialist Sales representatives for it to be approved. 

C. The transaction goes for approval to all the workers who inherit the HR Specialist Sales role. 

D. One of the HR Specialist Sales representatives should "Claim" the transaction for it to be assigned for approval. 
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E. If one of the HR Specialist Sales representatives rejects the transaction, others can still approve it. 

F. The transaction will be auto-claimed and assigned randomly to anyone who has the HR Specialist Sales role. 

Correct Answer: CD 

 

QUESTION 4

As the WorkFlow Administrator you are responsible for ensuring that approval workflows are handled in a timely basis. 

If you notice that there are outstanding notifications, what action can you take to move the approval along? 

A. Deny the workflow on behalf of the assigned Approver. 

B. Approve the workflow on behalf of the assigned Approver. 

C. Push back the workflow to another Approver. 

D. Reassign the workflow to another Approver. 

Correct Answer: D 

 

QUESTION 5

The HR of Finance Department searches for an employee who is the Finance Auditor. The search is conducted with an
effective date of 01-Jan-2015 on the Person Management page. The search does not yield any results. 

Identify two reasons for this behavior. 

A. The employee has multiple assignments and being a Finance Auditor is a part of the secondary assignment. 

B. The employee is working as a contingent worker in Finance Department. 

C. The employee is inactive as of 01-Jan-2015. 

D. The employee was a contingent worker until 31-Dec-2014 and will rejoin as an employee on 02-Jan2015. 

E. The employee is working as an employee in Finance Department. 

Correct Answer: CD 
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